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24x2 — 30x+ 6 18x° — 182 — 63x
3x—3 Ox
64x° — 82 + 48x 36x° — 24x% + 24x
&x 4x
54x2 + 45x+9 24x3 — 6622 +49x— 5
6x+3 4x— 5
2123 + 552 +43x+ 9 43 — 1622 + 18x
Tx+9 2x
10x° + 212 — 4 O + 372 — 38x+ 10
5x—2 x+ 5
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CratAlof L
oIS ERUE =
24x2 — 30x + 6 18x° — 18%° — 63x
3x—3 Ox
82 2 —2x—7
64x> — 8x° + 48x 36x° — 240 + 24x
&x 4x
8’ —x+6 9x* — 6x+6
54x2 + 45x+9 24x3 — 6622 +49x— 5
bx+3 4x—5
Ox+ 3 6 — 9x+ 1

2123 + 552 +43x+ 9

Tx+9

3% 4+ dx+ 1

10x° + 212 — 4
5x—2
2%+ 5x+2

4 — 16x% + 18x

x
2%* — 8x+9

O + 372 — 38x+ 10
x+5
O — 8x+2
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